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Question Number : 1 Question Id : 51245218240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The key to peace and harmony is ____

1. Likemindedness (samanachittata)

2. It cannot be imposed from outside or earned by doing something in the external world.
3. It is the product of a mind-set.
4. All of the above

Options :

51245259649. 1
51245259650. 2
51245259651. 3
51245259652. 4

Question Number : 2 Question Id : 51245218241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



This universe represents a crucial aspect of man’s mode of living, his being-in-the-world, as a
unified play of

1. (The Earth) and Dyau (Heaven)

2. Amartyas (immortals) and martyas (mortals)
3. Both 1 and 2

4, None of the above

Options :

51245259653. 1
51245259654.2
51245259655. 3
51245259656. 4

Question Number : 3 Question Id : 51245218242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following considers every being that takes a material form as impermanent?

1. Buddhism

2. Jainism

3. Vedic perspective on peace
4. None of the above

Options :

51245259657. 1
51245259658. 2
51245259659. 3
51245259660. 4

Question Number : 4 Question Id : 51245218243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following talks of two kinds of action: action that makes man free from the
bondage of the world and action that binds and proves harmful?

1. Buddhism

2. Jainism

3. Vedic perspective on peace
4. None of the above

Options :

51245259661. 1
51245259662. 2
51245259663. 3
51245259664. 4

Question Number : 5 Question Id : 51245218244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Buddhism, the loss of ___engenders _____ for the individual. This constitutes

the source of _ in social order.

1. Morality, dukha (unhappiness), disturbance
2. Disturbance, morality, dukha (unhappiness)
3. Dukha (unhappiness), disturbance, morality
4. None of the above

Options :

51245259665. 1
51245259666. 2
51245259667. 3
51245259668. 4

Question Number : 6 Question Id : 51245218245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who of the following was one of the most influential spokesmen for peace and non-violence
in the 20th century?

1. Mahatma Gandhi

2. Jawahar Lal Nehru

3. Sardar Vallabh Bhai Patel
4, None of the above

Options :

51245259669. 1
51245259670. 2
51245259671. 3
51245259672. 4

Question Number : 7 Question Id : 51245218246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who wrote A Letter to a Hindu, which said that only by using love as a weapon through
passive resistance could the Indian people overthrow colonial rule?

1. Mahatma Gandhi
2. Leo Tolstoy

3. Annie Besant

4. None of the above

Options :

51245259673. 1
51245259674. 2
51245259675. 3
51245259676. 4

Question Number : 8 Question Id : 51245218247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The birth of a social movement needs , that will begin a chain reaction of events in the
given society leading to the creation of a social movement.

1. initiating event

2. leadership

3.Both 1 and 2

4. None of the above

Options :

51245259677. 1
51245259678. 2
51245259679. 3
51245259680. 4

Question Number : 9 Question Id : 51245218248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Peace movements may be divided into the categories of movements

1. to eliminate war in general

2. to stop particular aspects of war
3. to stop particular wars

4. All of the above

Options :

51245259681. 1
51245259682.2
51245259683. 3
51245259684. 4

Question Number : 10 Question Id : 51245218249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A peace movement is a social movement that seeks to achieve

1. ending of a particular war (or all wars)

2. minimize inter-human violence in a particular place or type of situation
3. linked to the goal of achieving world peace

4. All of the above

Options :

51245259685. 1
51245259686. 2
51245259687. 3
51245259688. 4

Question Number : 11 Question Id : 51245218250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is an example of an organisation that seeks to merge all peace movement crganisations
and green organisations which may have some diverse goals, but all of whom have the
common goal of peace and humane sustainability.

1. Political cooperative

2. Political party

3. Government organization
4. None of the above

Options :

51245259689. 1
51245259690. 2
51245259691. 3
51245259692. 4

Question Number : 12 Question Id : 51245218251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A is a family which consists of husband, wife and their unmarried children.

1. Nuclear Family

2. Joint or Extended Family
3. Monogamous Family

4. None of the above

Options :

51245259693. 1
51245259694. 2
51245259695. 3
51245259696. 4

Question Number : 13 Question Id : 51245218252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A family consists of a husband and his wife. Under this type of family system neither
husband nor wife is allowed to have more than one spouse at a time.

1. Monogamous Family
2. Polygamous Family
3. Patriarchal Family

4. None of the above

Options :

51245259697. 1
51245259698. 2
51245259699. 3
51245259700. 4

Question Number : 14 Question Id : 51245218253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In power or authority rests on the eldest female member of the family especially the

wife or mother. She owns all the family property.

1. Monogamous Family
2. Matriarchal Family

3. Patriarchal Family

4. None of the above

Options :

51245259701. 1
51245259702. 2
51245259703. 3
51245259704. 4

Question Number : 15 Question Id : 51245218254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The family in which after marriage wife comes to reside in the family of her husband is known
as

1. Patrilocal family
2. Neolocal family
3. Matrilocal family
4. None of the above

Options :

51245259705. 1
51245259706. 2
51245259707. 3
51245259708. 4

Question Number : 16 Question Id : 51245218255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



consists of husband, wife and their children and some relatives added through

marriage.

1. Patrilocal family

2. Conjugal family

3. Consanguineous family
4. None of the above

Options :

51245259709. 1
51245259710. 2
51245259711. 3
51245259712. 4

Question Number : 17 Question Id : 51245218256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are TRUE about joint family?

1. It includes kinsmen, and generally includes three to four living generations.

2. It is a group composed of a number of family units living in separate rooms of the same
house.

3. Members eat the food cooked at one hearth, share a common income, common property,
are related to one another through kinship ties.

4. All of the above

Options :

51245259713. 1
51245259714.2
51245259715. 3
51245259716. 4



Question Number : 18 Question Id : 51245218257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are CORRECT about Inequality?

1. It is an outcome of inequity at different levels and identified features.

2. It can be described in terms of distribution of economic well-being expressed in terms of
income and consumption expenditure.

3. Both 1 and 2 are correct

4. None of the above

Options :

51245259717. 1
51245259718. 2
51245259719. 3
51245259720. 4

Question Number : 19 Question Id : 51245218258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The measurement method/(s) of inequality is/are

1. ‘Gini’ coefficient

2. Lorenz Curve

3. Both 1 and 2

4, None of the above

Options :

51245259721. 1
51245259722.2
51245259723. 3
51245259724. 4

Question Number : 20 Question Id : 51245218259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

is a graphic device that depicts the distribution of income and expenditure.

1. Gini' coefficient

2. Lorenz Curve

3. Both 1 and 2

4, None of the above

Options :

51245259725. 1
51245259726.2
51245259727. 3
51245259728. 4

Question Number : 21 Question Id : 51245218260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are TRUE about Lorenz Curve?

1. It is useful for comparing and ranking inequality across different distributions.

2. It is regarded as powerful and intuitive construct describing the inequality in a given income
distribution.

3. Both 1 and 2

4. None of the above

Options :

51245259729. 1
51245259730. 2
51245259731.3
51245259732. 4

Question Number : 22 Question Id : 51245218261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



measure of inequality is also a broad measure of inequality which quantifies the
disparity that allows one individual certain material choice denied to another.

1. 'Gini’ coefficient

2. Lorenz Curve
3.Both 1 and 2

4. None of the above

Options :

51245259733 1
51245259734. 2
51245259735.3
51245259736. 4

Question Number : 23 Question Id : 51245218262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The different forms of the inequality could include

1. Individual inequalities

2. Group/Class inequalities
3. Regional inequalities

4. All of the above

Options :

51245259737. 1
51245259738.2
51245259739. 3
51245259740. 4

Question Number : 24 Question Id : 51245218263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Gini Coefficient’ related to is relatively a weaker measure as compared to
'Gini Coefficient’ as the measure of inequality in the economy.

1. consumer’s expenditure, income-based

2. income-based, consumer's expenditure

3. consumer’s expenditure, expenditure-based
4. None of the above

Options :

51245259741. 1
51245259742.2
51245259743. 3
51245259744. 4

Question Number : 25 Question Id : 51245218264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lipton provided the following explanations as why “urban biased planning” could take place in
India:

1. Dominance of urban elite on institutions of independence, government, political, parties,
law, civil society, trade unions, education, business etc.

2. The urban elite not only had economic power but also capability to organise, centralise and
control while rural people are much more dispersed and unorganised.

3. Both 1 and 2

4. None of the above

Options :

51245259745. 1
51245259746. 2
51245259747. 3
51245259748. 4



Question Number : 26 Question Id : 51245218265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The evidences of Rural-Urban divide can be seen in

1. Infrastructure

2. Social Development
3. Both 1 and 2

4. None of the above

Options :

51245259749. 1
51245259750. 2
51245259751. 3
51245259752. 4

Question Number : 27 Question Id : 51245218266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Road connectivity, electricity, power and pure drinking water etc. are NOT only important for

but also for

1. development, quality of life
2. quality of life, development
3. agriculture, export

4. import, export

Options :

51245259753. 1
51245259754. 2
51245259755.3
51245259756. 4



Question Number : 28 Question Id : 51245218267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a major factor leading to rural-urban divide with reference to simple indicators of
drinking water, sanitation latrines, houses etc.

1. Quality of life

2. Agriculture

3. Forex reserve

4, None of the above

Options :

51245259757. 1
51245259758. 2
51245259759.3
51245259760. 4

Question Number : 29 Question Id : 51245218268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Investment in the social sector in the area of and are essential to reduce the rural-

urban gaps.

1. Health, education

2. Agriculture, road infrastructure
3. Electricity, agriculture

4. None of the above

Options :

51245259761. 1
51245259762. 2
51245259763. 3
51245259764. 4



Question Number : 30 Question Id : 51245218269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The major philosophical approach/(s) to determining the quality of life is/are

1. Characteristics of the Good Life

2. Good Life is Based on the Satisfaction of Preferences
3. Experience of Individual

4. All of the above

Options :

51245259765. 1
51245259766. 2
51245259767. 3
51245259768. 4

Question Number : 31 Question Id : 51245218270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following approaches to determine quality of life, the factors such as feelings
of joy, pleasure, contentment, and life satisfaction are paramount?

1. Characteristics of the Good Life

2. Good Life is Based on the Satisfaction of Preferences
3. Experience of Individual

4, All of the above

Options :

51245259769. 1
51245259770. 2
51245259771.3
51245259772. 4



Question Number : 32 Question Id : 51245218271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

approach to the good life based on people’s choices undergirds much of modern
economic thinking.

1. Characteristics of the Good Life

2. Good Life is Based on the Satisfaction of Preferences
3. Experience of Individual

4, All of the above

Options :

51245259773. 1
51245259774. 2
51245259775.3
51245259776. 4

Question Number : 33 Question Id : 51245218272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT one of the domains in acessessing quality of life under engaged
theory approach?

1. Ecology
2. Economics
3. Technology
4. Culture

Options :

51245259777. 1
51245259778. 2
51245259779. 3
51245259780. 4



Question Number : 34 Question Id : 51245218273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are sub-domains of quality of life under the domain of culture?

1. Belief and ideas

2. Gender and generations
3. Enquiry and learning

4. All of the above

Options :

51245259781. 1
51245259782. 2
51245259783. 3
51245259784. 4

Question Number : 35 Question Id : 51245218274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under quantitative measurement of quality of life, the aspects of personal well-being are

1. Emotional well being
2. Life evaluation
3.Both 1 and 2

4, None of the above

Options :

51245259785. 1
51245259786. 2
51245259787.3
51245259788. 4

Question Number : 36 Question Id : 51245218275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Provisioning services are those, which are responsible for

1. supporting human life.

2. basic ecosystem processes.

3. nonmaterial ecosystem benefits.

4. basic long-term ecosystem services.

Options :

51245259789. 1
51245259790. 2
51245259791.3
51245259792. 4

Question Number : 37 Question Id : 51245218276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cultural services are those, which are responsible for

1. supporting human life.

2. basic ecosystem processes.

3. nonmaterial ecosystem benefits.

4. basic long-term ecosystem services.

Options :

51245259793. 1
51245259794. 2
51245259795. 3
51245259796. 4

Question Number : 38 Question Id : 51245218277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT considered as one of the five forms of the capital?

1. Natural Capital

2. Social Capital

3. Human Capital

4. Technological Capital

Options :

51245259797. 1
51245259798. 2
51245259799. 3
51245259800. 4

Question Number : 39 Question Id : 51245218278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are TRUE about the common property resources?

1. They are typically allocated under customary property rights and tenure systems that
provide rules governing the rights to and use of resources.

2. They been sustainably managed for generations, and they may be used and exploited in a
de facto open access manner.

3. Both 1 and 2

4. None of the above

Options :

51245259801. 1
51245259802. 2
51245259803. 3
51245259804. 4

Question Number : 40 Question Id : 51245218279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The effects of climate change on land and water resources can be traced back to

1. an increase in global mean temperatures

2. gradual changes in the amount and frequency of precipitation
3. Both 1 and 2

4. None of the above

Options :

51245259805. 1
51245259806. 2
51245259807. 3
51245259808. 4

Question Number : 41 Question Id : 51245218280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

has/have the potential to mitigate climate change by reducing emissions of
greenhouse gases, lowering dependence on imported oil for net oil importers, and in
stimulating rural development by increasing farmers’ incomes.

1. Bio-ethanol

2. Biodiesel

3. Both 1 and 2

4, None of the above

Options :

51245259809. 1
51245259810. 2
51245259811. 3
51245259812. 4

Question Number : 42 Question Id : 51245218281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The sustainable management of natural resources is critical to the needs of the
poor for several reasons.

Reason R: The rural poor are disproportionately dependent on natural resources; thus
sustaining their livelihoods depends on the continued availability and sustainable
management of those resources.

Choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

51245259813. 1
51245259814. 2
51245259815. 3
51245259816. 4

Question Number : 43 Question Id : 51245218282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statement/(s) is/are TRUE about conflicts?

1. It can be an explicit way to resolve tensions between parties, prevent stagnation, stimulate
interest and curiosity

2. It can be the medium “"through which problems can be aired and solutions arrived at”

3. It can be the root of personal and social change

4. All of the above

Options :

51245259817. 1
51245259818. 2
51245259819. 3
51245259820. 4

Question Number : 44 Question Id : 51245218283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

do/does not necessarily mean either a breakdown within the relationship or
community in which they occur- “they are 'normal’ and are indicative of the fact that 'real life

processes’ continue”.

1. Conflicts

2. Cooperation

3. Coordination

4. None of the above

Options :

51245259821. 1
51245259822.2
51245259823.3
51245259824. 4



Question Number : 45 Question Id : 51245218284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are TRUE about the Conflict?

1. Conflict can occur within state
2. Conflict can occur among states
3.Both 1 and 2

4. None of the above

Options :

51245259825. 1
51245259826. 2
51245259827. 3
51245259828. 4

Question Number : 46 Question Id : 51245218285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From a , conflicts may be undesirable because they may interfere with the goal of
system maintenance.

1. system criented perspective
2. actor oriented perspective
3. Both 1 and 2

4. None of the above

Options :

51245259829. 1
51245259830. 2
51245259831. 3
51245259832. 4

Question Number : 47 Question Id : 51245218286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Conflicts may occur

1. On the overt behavioural levels
2. On the verbal level

3. On the system level

4, All of the above

Options :

51245259833. 1
51245259834.2
51245259835. 3
51245259836. 4

Question Number : 48 Question Id : 51245218287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a form of interaction through which individuals, organisations, and governments
explicitly try to arrange (pretend to do so) a new combination of some of their common and

conflicting interests.

1. Negotiation

2. Cooperation

3. Coordination

4. None of the above

Options :

51245259837. 1
51245259838. 2
51245259839. 3
51245259840. 4



Question Number : 49 Question Id : 51245218288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Liberal democracy emphasizes the principles of

1. universal adult suffrage

2. separation of powers

3. independence of judiciary
4. All of the above

Options :

51245259841. 1
51245259842.2
51245259843. 3
51245259844. 4

Question Number : 50 Question Id : 51245218289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rule of law denotes a principle of governance which requires the following stipulations:

1. Law of the land should be properly notified so that the citizens know as to how it will
affect/influence them.

2. Laws should be general in form so that they are uniformly applicable to all the citizens and
there should not be any separate laws for any specific category.

3. No law should be made applicable with retrospective effect.

4. All of the above.

Options :

51245259845. 1
51245259846. 2
51245259847. 3
51245259848. 4



Question Number : 51 Question Id : 51245218290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to the the rule of law is the principle of governance in which all persons,

institutions and entities, public and private, including the State itself, are accountable to laws
that are publicly promulgated, equally enforced and independently adjudicated, and which are
consistent with international human rights norms and standards.

1. declaration of UNO

2. declaration of International Commission of Jurists
3. resolution of International Bar Association

4, None of the above

Options :

51245259849. 1
51245259850. 2
51245259851. 3
51245259852. 4

Question Number : 52 Question Id : 51245218291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

declared that the rule of law implies certain rights and freedoms, upholds the
principle of independence of judiciary, and the inevitable and social, economic and cultural
conditions conducive to human dignity.

1. Declaration of UNO

2. Declaration of International Commission of Jurists
3. Resolution of International Bar Association

4. None of the above

Options :
51245259853. 1



51245259854. 2
51245259855. 3
51245259856. 4

Question Number : 53 Question Id : 51245218292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rule of law, according to the World Justice Project, has universal principles and these are:

1. The government and its officials and agents are accountable under the law.

2. The laws are clear, publicized stable, fair and protect Fundamental Rights.

3. The process by which the laws are enacted, administered, and enforced is accessible, fair,
and efficient.

4. All of the above.

Options :

51245259857. 1
51245259858. 2
51245259859. 3
51245259860. 4

Question Number : 54 Question Id : 51245218293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The President of India can declare internal emergency under of the Constitution. The
provision in the Constitution stipulates that the President will do so in the event of armed
rebellion within India or attack or threat of attack to India outside the country.

1. Article 352
2. Article 356
3. Article 359
4. None of the above



Options :

51245259861. 1
51245259862. 2
51245259863. 3
51245259864. 4

Question Number : 55 Question Id : 51245218294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following due to its impartiality and independence, has a decisive role in settling
various conflicts through the legal framework and laws?

1. Parliament

2. Executive

3. Judiciary

4. None of the above

Options :

51245259865. 1
51245259866. 2
51245259867. 3
51245259868. 4

Question Number : 56 Question Id : 51245218295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



is an appeal to the authority or credibility of the presenter. It is how well the
presenter convinces the audience that he or she is qualified to present (speak) on the

particular subject.

1. Ethos
2. Pathos
3. Logos
4, None of the above

Options :

51245259869. 1
51245259870. 2
51245259871. 3
51245259872. 4

Question Number : 57 Question Id : 51245218296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an appeal to the audience’s emotions, and the terms sympathy,

pathetic, and empathy are derived from it?

1. Ethos
2. Pathos
3. Logos
4. None of the above

Options :

51245259873. 1
51245259874. 2
51245259875. 3
51245259876. 4



Question Number : 58 Question Id : 51245218297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is normally used to describe facts and figures that support the
speaker’s claims or thesis. It also enhances ethos because information makes the speaker lock
knowledgeable and prepared to his or her audience?

1. Ethos
2. Pathos
3. Logos
4. None of the above

Options :

51245259877. 1
51245259878. 2
51245259879. 3
51245259880. 4

Question Number : 59 Question Id : 51245218298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The functions of the International Inter-Government Organisations (IGOs) include

1. Forum

2. Normative

3. Information

4, All of the above

Options :

51245259881. 1
51245259882.2
51245259883. 3
51245259884. 4



Question Number : 60 Question Id : 51245218299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an intergovernmental advisory body specifically dedicated to helping
countries in transition from war to lasting peace?

1. Peace-building Commission

2. Peace-keeping Commission

3. Conflict Resolution Commission
4. None of the above

Options :

51245259885. 1
51245259886. 2
51245259887. 3
51245259888. 4

Question Number : 61 Question Id : 51245218300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are created to deal with the issues of maintaining international peace
and security, promoting human rights and realising the principle of self-determination of
people, combating terrorism and establishing rule of law in international relations?

1. International Inter-Government Organisations (IGOs)
2. Non Governmental Organisations (NGOs)

3. Regional Treaty Organisations

4. None of the above

Options :

51245259889. 1
51245259890. 2
51245259891. 3
51245259892. 4



Question Number : 62 Question Id : 51245218301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: Successful role of NGOs with special reference to Anti-Slavery Internaticnal,
MRG, and ICRC reveals that compared to 1GOs, the NGOs are more successful in achieving
their objectives.

Reason R: It is due to the fact that they are independent of government control and NGOs
mobilize world public opinion to resolve conflicts through peaceful means.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

51245259893. 1
51245259894. 2
51245259895. 3
51245259896. 4

Question Number : 63 Question Id : 51245218302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which country presented to the 51st session of the General Assembly (1995-96) a Draft
Comprehensive Convention for Combating International Terrorism (CCIT)? This draft is under
consideration of the General Assembly for the last two decades.

1. India

2. United Kingdom
3. Canada

4. France

Options :

51245259897. 1
51245259898. 2
51245259899. 3
51245259900. 4

Question Number : 64 Question Id : 51245218303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On initiative of in 2007, the UN designated October 2 (birthday of Mahatma Gandhi) as
the International Day of Non-violence.

1. United Kingdom
2. South Africa

3. India

4, Japan

Options :

51245259901. 1
51245259902. 2
51245259903. 3
51245259904. 4



Question Number : 65 Question Id : 51245218304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilateral dispute between and is over the Senkaku Islands known as Diaoyutai.

1. China and Japan

2. India and Pakistan
3. USA and China

4. China and Malaysia

Options :

51245259905. 1
51245259906. 2
51245259907. 3
51245259908. 4

Question Number : 66 Question Id : 51245218305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The characteristics of weak State is defined as

1. The ends or purposes of governance are contested in such states

2. There are two or more “differentially treated communal groups” within the state
3. The government apparatus is ‘captured’ or held by one group

4. All of the above

Options :

51245259909. 1
51245259910. 2
51245259911. 3
51245259912. 4

Question Number : 67 Question Id : 51245218306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The characteristic/(s) of ‘failed’ states is/are

1. One or more armed sovereigns exists within the state.

2. An external power wields effective authority or influence within the territory of the state and
has the coercive capacity to resist pressures from legal authorities.

3. Communities fight each other and the central authorities lack the capacity to end them.

4. All of the above.

Options :

51245259913. 1
51245259914.2
51245259915. 3
51245259916. 4

Question Number : 68 Question Id : 51245218307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The fundamental issues underlying the veritable mass of complex conflicts in the South Asian
Region are shaped by

1. Real or perceived marginalisation of certain groups that has played a crucial role in the
origin of the conflict.

2. Perceiving marginalisation in terms of a given identity, which maybe ethnic, religious, castes
or linguistic based.

3. The response of state of conflicts, which may be military, political or economic without a
holistic analysis of the root of the problem.

4. All of the above.

Options :

51245259917. 1
51245259918. 2
51245259919. 3
51245259920. 4



Question Number : 69 Question Id : 51245218308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While one saw the state as an 'oppressive monopolist of power’, others believed that it lacked
the will and the strength to stand up to the West or put its own minorities in their place. The
State in the above statement is referred for

1. India

2. Pakistan

3. Bangladesh

4. None of the above

Options :

51245259921. 1
51245259922.2
51245259923.3
51245259924. 4

Question Number : 70 Question Id : 51245218309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The former US President Barak Obama once tagged as the 'ladle of Terrorism’

1. Pakistan

2. Afghanistan

3. Somalia

4, None of the above

Options :

51245259925. 1
51245259926. 2
51245259927. 3



51245259928. 4

Question Number : 71 Question Id : 51245218310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ethnic conflicts are the conflicts between groups

1. Racial

2. Linguistic

3.Both 1and 2

4. None of the above

Options :

51245259929. 1
51245259930. 2
51245259931. 3
51245259932. 4

Question Number : 72 Question Id : 51245218311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ethnic conflict is

1. associated with violence

2. that which cenjures up images of riots, pogroms, genocide or war
3.Both 1and 2

4. None of the above

Options :

51245259933. 1
51245259934.2
51245259935. 3
51245259936. 4



Question Number : 73 Question Id : 51245218312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The explains ethnicity as a fixed characteristic of individuals and communities. Ethnicity
is embedded in inherited biological attributes, a long history of practicing cultural differences,
or both.

1. Primordialist approach
2. Institutionalist school
3. Social constructivism
4, None of the above

Options :

51245259937. 1
51245259938. 2
51245259939. 3
51245259940. 4

Question Number : 74 Question Id : 51245218313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following argues that existence of ethnic differences is not sufficient to explain
ethnic conflict? The root causes of ethnic conflict are not ethnic per se but rather institutional,
political and economic factors.

1. Primordialist approach
2. Institutionalist school
3. Social constructivism
4. None of the above

Options :
51245259941. 1
51245259942. 2



51245259943. 3
51245259944. 4

Question Number : 75 Question Id : 51245218314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following argues that ethnicity, in contrast to political affiliations, cannot be
wilfully decided on by individuals and is instead rooted in and regulated by the society as a
whole?

1. Primordialist approach
2. Institutionalist school
3. Social constructivism
4. None of the above

Options :

51245259945. 1
51245259946. 2
51245259947. 3
51245259948. 4

Question Number : 76 Question Id : 51245218315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The challenge posed by ethnic groups in India have taken the form of

1. Autonomy
2. Violent conflicts
3. Insurgency
4. All of the above

Options :
51245259949. 1
51245259950. 2



51245259951. 3
51245259952. 4

Question Number : 77 Question Id : 51245218316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sometimes extremism and violence are seen as pathological problem of self-destruction of
humanness. In the extreme form violence and extremism stand on the premise of

1. Hatred and revenge of others

2. The self-destruction of one’s own self
3. Both 1 and 2

4, None of the above

Options :

51245259953. 1
51245259954.2
51245259955. 3
51245259956. 4

Question Number : 78 Question Id : 51245218317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sometimes the term extremism is identified with, or confused with the term

1. Subversiveness

2. Radicalism

3.Both 1 and 2

4. None of the above

Options :
51245259957. 1
51245259958. 2



51245259959. 3
51245259960. 4

Question Number : 79 Question Id : 51245218318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The reasons why groups or communities are resorting to or resourcing violence or extremism
because

1. violence and extremism can be used as part of self-defence — i.e. anticipatory use of force in
self-defence

2. economic exclusion and deprivation have been used to justify the usage of viclence and
extremism

3. states have been involved in silencing the dissent, silencing the opposition and also
silencing the critiques

4. All of the above

Options :

51245259961. 1
51245259962. 2
51245259963. 3
51245259964. 4

Question Number : 80 Question Id : 51245218319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Recourse to violence has been condemned or criticised for various reasons because

1. It goes against the basic principles of human dignity

2. It goes against the principles of greater good of mankind

3. It goes against the principles of social equity and social relations
4. All of the above



Options :

51245259965. 1
51245259966. 2
51245259967. 3
51245259968. 4

Question Number : 81 Question Id : 51245218320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Johan Galtung, which of the following is/are the forms of structural violence?

1. Racism

2. Nationalism

3. Sexism

4. All of the above

Options :

51245259969. 1
51245259970. 2
51245259971. 3
51245259972. 4

Question Number : 82 Question Id : 51245218321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Robert Gilmann while analysing the structural violence argues that structural violence is
embedded in the :

1. Poverty

2. Inequality

3. Hunger

4. All of the above

Options :



51245259973. 1
51245259974. 2
51245259975. 3
51245259976. 4

Question Number : 83 Question Id : 51245218322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are the characteristics of peace?

1. Peace is a relationship variable, not a trait.

2. Peace is a dynamic, not a static, process.

3. Peace is an active process, not a passive state.
4. All of the above

Options :

51245259977. 1
51245259978. 2
51245259979. 3
51245259980. 4

Question Number : 84 Question Id : 51245218323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Imposed peace is based on

1. Domination and power

2. Imposition, and enforcement
3.Both 1 and 2

4. None of the above

Options :
51245259981. 1
51245259982. 2



51245259983. 3
51245259984. 4

Question Number : 85 Question Id : 51245218324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following leads to structural liberty where social institutions promote equality,
justice, and the well-being of all relevant parties?

1. Imposed peace
2. Consensual Peace
3. Negative Peace
4. None of the above

Options :

51245259985. 1
51245259986. 2
51245259987. 3
51245259988. 4

Question Number : 86 Question Id : 51245218325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following process, parties involved negotiate a cease-fire, an initial agreement,
or a framework for resolving future conflicts? It typically manages the immediate conflict but
fails to deal with underlying structural issues.

1. Peace-building

2. Peace-making

3. Imposed Peace

4. None of the above

Options :



51245259989. 1
51245259990. 2
51245259991. 3
51245259992. 4

Question Number : 87 Question Id : 51245218326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following process, economic, political, and educational institutions are used to
create long-term peace? It deals with the structural issues and is aimed at creating long-term
harmonious relationships based on mutual respect and social justice.

1. Peace-building
2. Peace-making
3. Imposed Peace
4. None of the above

Options :

51245259993. 1
51245259994. 2
51245259995. 3
51245259996. 4

Question Number : 88 Question Id : 51245218327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Harmony can be grounded on mutually-supporting pillars of

1. Peace and security

2. Sustainable and inclusive development
3. Human rights and the rule of law

4. All of the above

Options :



51245259997. 1
51245259998. 2
51245259999. 3
51245260000. 4

Question Number : 89 Question Id : 51245218328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Peace and harmony can bring a peaceful and stable order to society, and they
are a necessary condition for the survival and development of mankind.

Reason R: Peace and harmony mean dealing with disputes and resolving conflicts fairly and
properly with neutralisation and Middle Way principles to further the welfare of each individual
as well as the wellbeing of mankind as a whole.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

51245260001. 1
51245260002. 2
51245260003. 3
51245260004. 4

Question Number : 90 Question Id : 51245218329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following writ is an order calling upon the person who has detained another to

produce the latter before the court in order to let the court know on what ground he has been

confined?

1. Habeas corpus
2. Mandamus
3. Prohibition
4. Quo Warranto

Options :

51245260005. 1
51245260006. 2
51245260007. 3
51245260008. 4

Question Number : 91 Question Id

: 51245218330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following writ is issued mainly for the enforcement of Fundamental Rights?

1. Habeas corpus
2. Mandamus
3. Prohibition
4. Quo Warranto

Options :

51245260009. 1
51245260010. 2
51245260011. 3
51245260012. 4

Question Number : 92 Question Id

: 51245218331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

is the most effective method available in the given circumstances. The morality or
beliefs are not central and the main aim is defeat of opponent in order to bring about change.

1. Principled non-violence
2. Pragmatic non-violence
3. Active non-violence

4. None of the above

Options :

51245260013. 1
51245260014. 2
51245260015. 3
51245260016. 4

Question Number : 93 Question Id : 51245218332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The United Nations’ (UN) principle aim, as spelled out by its Charter, is/are:

1. To 'reaffirm faith in fundamental human rights’

2. To 'uphold respect for international law’

3. To ‘promote social progress and better standards of life’
4. All of the above

Options :

51245260017. 1
51245260018. 2
51245260019. 3
51245260020. 4

Question Number : 94 Question Id : 51245218333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



According to the Buddhism, decline of caused by greed resulted in

1. morality, acquisitiveness
2. order, acquisitiveness

3. happiness, morality

4. None of the above

Options :

51245260021. 1
51245260022. 2
51245260023. 3
51245260024. 4

Question Number : 95 Question Id : 51245218334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to A. W. Green, which of the following is a cluster of people living within narrow
territorial radius who share a common way of life?

1. Joint family

2. Matrilocal family
3. Community

4. None of the above

Options :

51245260025. 1
51245260026. 2
51245260027. 3
51245260028. 4

Question Number : 96 Question Id : 51245218335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The inequality cannot be reduced by only liberalised policies unless very
important measures are taken specifically keeping weaker sections as target groups.

Reason R: We need to create new opportunities of employment at the doors of the rural
people as they have lost their employment and income from traditional economic activities.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

51245260029. 1
51245260030. 2
51245260031. 3
51245260032. 4

Question Number : 97 Question Id : 51245218336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is/are major attribute/(s) of sustainable development?

1. Resource-conserving

2. Environmentally non-degrading

3. Economically and socially acceptable
4. All of the above

Options :

51245260033. 1
51245260034. 2
51245260035. 3
51245260036. 4

Question Number : 98 Question Id : 51245218337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following could be considered as procedure/(s) of conciliation?

1. Supportive

2. Non-directive
3. Facilitative

4. All of the above

Options :

51245260037. 1
51245260038. 2
51245260039. 3
51245260040. 4

Question Number : 99 Question Id : 51245218338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is grounded in religious and ethically based injunctions against
violence and also, is a way of life and moral imperative and its central aim is the conversion of
the opponent in order to bring about change?

1. Principled non-violence
2. Pragmatic non-violence
3. Active non-violence

4. None of the above

Options :

51245260041. 1
51245260042. 2
51245260043. 3
51245260044. 4

Question Number : 100 Question Id : 51245218339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the 1960s, the ‘sons of the soil’ movement was launched in which of the states?

1. Gujarat

2. Maharashtra

3. Odisha

4. None of the above

Options :

51245260045. 1
51245260046. 2
51245260047. 3
51245260048. 4



